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BILANS MOCY -WLZ 1,2,3,4

Pswizi =N X Py x K
Ps =15 x 5kW x 0,406 = 30,45kW

Ps wiza =N X Py x K
Pg =15 x 5kW x 0,406 = 30,45kW

Ps wiza =N X P x K
Ps =16 x 5kW x 0,393 = 31,44kW

Ps wiza =N X Py x K

Ps =15 x 5kW x 0,406 = 30,45kW
BILANS MOCY - RG KL Il IV

Pre kL = Pswizia ¥ Psy*+ Paom

Prwizia = Piwiz + Prwiza * Prwizs + Prwize
Prwizta = 75KW + BOKW + 75kW + 75kW = 305kW

PS wLz1-4 = PI WLZ1-4 X kJ
Ps wiz14 = 305KW x 0,193 = 58,9kW

P, =13KW
Py = 13x0,8 = 10,4kW

Paom = 25KW

Pr kL v = 58,9KW + 10,4kW + 25kW = 94,3kW

o = 147A
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